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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper code No. 68/0S/2, Set —| A | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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TGS weet ® el O faaedt (A), (B), (C) Tam (D) § € i3 T A% go-T & a° &
T Sa-gRaes ¥ o el wox ffag|
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SA-giae ¥ wEaH-fag S99 stuan tide Wt & sifafea w2l ot srwaie faas ax
TUETT B ST SETAT SR

Tea H el ol Wbk & Ea® sgen gfaen o Rufq § s argae & "= e
Al IT—YRA®BT T Y979 &l @S 4. 68/0S/2, 7e— | A | fo@|

(@)

(@)

G970 had &E/3EsT H &1 Ay off, afy onw o @ S & 5 fohd uwe W o
3R T Hhd §

picpull, AL, TR, U, B, Hepa i Tl

FuaT SA-gRasr ¥ feu T afe ¥ foed 6 omw e W § s fow @ 2
gfy ey & ud ofish & arfafieaa frel oma wior & I foaa § F wed & wwem
H B Al Jfedi | Tafadl ol e ded siadh! B

[ NOTE / firdwr :

(1) Answers of all questions are to be given in the Answer-Book given to

(2)

you.
et 9l o TR TR o Tl SR YRaen H & foae |

15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH YI-U51 i UG+ o fou 15 foe o1 wm o 7@ ® | 99991 o1 ferior Saet
T 02.15 ot foham STEm 1 02.15 &1 ¥ 02.30 &1 G BT hdel Y94-F bl T
3R 39 mafy & SRE I SR-YRAHT R HE W Tl foaa@ii|
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q.No. 1to 17 - Multiple Choice type Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each of the questions 18-28.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) 9® W & 9w ofe e o ¥
(iv) @ & § i@ ¥
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
Ut 18 § 28 % fg fiw g fds & @R 37 weAl & X fag|
(v) @ | H e ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A
g — &

1  The symbol to represent the unit of physical quantity 'Luminous intensity' 1
is :

s T AT rorar & w5 B FEUT B e Wi §

(A) A (B) K
(C) mol (D) cd
2 Which one of the following is a correct electronic configuration of 1
magnesium?
frffaa & @ ANy &1 @8 gereite faama &7
(A) 2,8, 1 B) 2,83
) 2,8,8 (D) 2,8,2

3  Litmus is an indicator to find out whether a given solution is acidic, basic or 1
neutral. In basic solutions, it turns to colour.
(A) blue (B) yellow
(C) purple (D) red
foTena U od WA § [He g0 98 371 fean <71 |9ear § T o o faaae e
g, AT ¢ gal J|WEN & | g [gaad o a8 T 0 F S B
(A) - (B) dm
(C) S (D) et

4  Which of the following is true about force? 1
(A) Force is always in the form of a pull
(B) Force cannot move a stationary body
(C) Force cannot deform a body
(D) Force can change the direction of motion of a body
4 % dY 4 fEfatad 9§ 9 HH-91 $oF 99 § 7
(A) oo o9 Rdwmg & &9 & € @an ¥
(B) @ Rax axg &I i § &0 @1 debell
(C) 9a fopelt fis ot fawiua &1 & Fapar
(D) @ fopdl a¥g &1 a1 f&em 95 |hat §

68/0S2—212_A] 4 (WImmnmn [ Contd...



5  Work done by a force will be zero if on applying the force on a body 1

(A) the force displaces the body at an angle of 60° with the direction of
force.

(B) the body remains at rest.

(C) the body displaces in the direction of force.

(D) the body displaces in the direction opposite to the direction of the force
applied.

forell S 210 fopaT T P S BN AfE UE 9 fopdl fifs uX @ W &fR 9% fis —

(A) ¥« @ fesm & "UeE 60° 9 fowenfua =

(B) fom o s91 @I

(C) 9@ ! fagm # forenfia =1

(D) ¥@ @ faudia fasm & foeenfia &1

6  Which of the following is a symptoms of Kwashiorkor? 1
(A) Gain of muscles.
(B) Body develops loose folds of skin.
(C) Ribs become prominent
(D) Retardation of physical and mental growth

frfaiad & 9 dF-—a1 ARG T BT T 3 7
(A) U IR 7 ghe

(B) ol &1 €Il U8 S

(C) vafeTdi &1 IHT ST

(D) e X Amfae faer &1 9= & S

7  Metals - 1
(A) are generally hard. (B) exist in solid, liquid and gaseous states.
(C) are least malleable. (D) do not show any metallic lustre.
g -
(A) AR 9T B3R B & (B) 3, 39 o g s & uiw & |
(C) 99" %9 gaaed B 2| (D) @5 i@ gia &iRid T&f |

8  Select the most devastating natural disaster from the following : 1
(A) Depletion of fossil fuels (B) Forest fire
(C) Depletion of ozone layer (D) Loss of ecosystem
frfafad & & daitas foeeil Tidhiae weliaaar gy
(A) SareH a7 afiorn (B) @™
(C) ofei uxd @l &foran (D) s &1 &g
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9  Two neurons are connected to each other through : 1

(A) Their axons (B) Synapses
(C) Their dendrites (D) Node of Ranvier
T et HITBT IR SIa el & —
(A) oI THAHA % HIEH | (B) o Rl & wremw |
(C) Uy g & AT 9 (D) {@faar-—vd & #regw 9
10 The function of uterus in human female is : 1

(A) Growth and development of the embryo

(B) To provide opening for ovum to pass

(C) To provide a common duct for passage of urine and sperms
(D) To produce ova

Sl § THISE B UBE T

(A) o1 @ Jhg T fompra

(B) 3 &l Yo &% (¢ &R Y& &l

(C) T X hvpstt & oA & g IWafiss il Ua™ oA
(D) gfs 3@ &L

11 The abiotic component of an ecosystem is : 1
(A) Carnivores (B) Primary producers
(C) Precipitation (D) Herbivores
IR T 3TSifeh e &
(A) wrawed (B) wiufys Scesw
(C) adur (D) gmepwed
12 A mass of 1pg can also be written as : 1
lpug =@ &l &0 5 o9 w9 # fog @ad &, 98 ¥ ¢
(A) 107 g (B) 100 ¢
(€) 107 ¢ (D) 10712 ¢
13 pOH of a solution is 9.5. The solution is : 1
(A) Acidic (B) Basic
(C) Neutral (D) Partially acidic partially basic
el fqwa @ pOH 9.5 ®| 78 faeas ¢ -
(A) S (B) &t
(C) TN (D) sisra: sr<irg 3igTa: &ARA
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14 What is the mass of an object whose weight is 78.4 N? (Given g = 9.8 ms2) 1
fora fiis &1 WX 78.4 <A & SHH! g9 fhar 37 (Ram & g = 9.8 ms2)
(A) 80N (B) 0.8 kg
(C) 8.0 kg (D) 0.8 N

15 You are given two resistors of 2Q and 6 Q. Combining these two resistors 1
what other resistances can you obtain?

(A) 8Q and 6Q (B) 8Q and 1.5Q

(C) 2Q and 8Q (D) 6Q and 2Q

MUl 2Q TF 6Q & 3 Ffagw 9T T E1 3T IHl F FASH G 99 3T foha—
fore WM & Uiy U BT Tahd © 7

(A) 8Q uwd 6Q B) 8Q uwd 1.5Q
(C) 20 uwd 8Q (D) 6Q wd 2Q
16 The image formed by a concave mirror is between centre of curvature and 1

focus, observed to be real, inverted and diminished than the object. Where
should be the position of the object?

(A) Beyond the centre of curvature

(B) At the centre of curvature

(C) Between the principal focus and the centre of curvature

(D) Between the pole of the mirror and its principal focus

fopell orade U ST Tkl Ud WY & SIg WA gdr & o 98 wiate
qrEfaes, I qUT MR ¥ fo € ®ier ¥ fam & dwifaa Rufq @ g7

(A) Iharhs & W

(B) ahdlehs WX

(C) T BiHH SR Tshalhs & aId

(D) U % ga I &I Wi &b g

17 Diamond is used - 1
(A) as a dry lubricant for moving machine parts
(B) for cutting of glass and drilling of rocks
(C) for making pencil leads
(D) for making electrodes in dry cells and in electric arcs.

X BT SUART fopam omam ¥

(A) Tfaeha @i & gt & /g wied & &0 |
(B) @ig @ ®red iR fr@met # gu@ s % fau
(C) dfae @1 fgest s9H & T

(D) g6 Tl qon [EQ emed o fagey s W &% g
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18 Match column I statement with the correct option from column II. 2

B — [ & HYT B HAE B Biad — 1 & 987 faewey ¥ Bk -

Column - I / &fea® — 1 Column - II / ®few — 11
(a 10N (P) 108 g cm? s2
(by 10W (Q) 108 g cm? s3

(R) 10° g cm s2
(S) 10° g cm s2

19 Complete the following sentences by using the options given in bracket: 1+1=2
(Decreasing, protons, increasing, nucleus, atom, electrons)

(a) The shells in atoms are occupied in the order of their energies.
(b) The particles namely and neutrons in the nucleas are called
nucleons.

wcoh H QU Y famedl &1 SUENT Bich ATl bl qU DbINY
(B, W2, 9o, AHe, TRy, geai)

(a) TXATIGST ¥ i1 I FHerell & % H 9 W |
(b) ity ¥ feremm @it Td g2l Bl gleraenT W ®Ed |
20  Write True (T) for correct statement and False (F) for incorrect statement : ~ 1+1=2

(a) Ionic compounds do not conduct electricity in their molten state and
in aqueous solutions.

(b) Some covalent compounds are solid also. They have low melting point,
low boiling point.

T ®uT & [ g (T) R 7Tad ®ud & fag e (F) fafaw -

(a) Trac B9 WX STaT oY o faaad # Tt iRt faed @l ardd el B |

(b) P& TEHANT ARTH BT T TN & | Ik TeAihl Ud FaeD! & A 171 8 21

21 Read the passage given below and answer the questions that follow it : 1x2
"The nervous system and the endocrine system work together as a team to
control and coordinate all our activities. Sometimes we may not even be aware
of the role that the nervous and endocrine systems play in our health and well-
being and receive response to an urgent or dangerous situation."

(a) Name the two systems which control and coordinate all our body activities.
(b) Which one of the following is usually executed in response to a dangerous
situation?
(A) Feel of hunger
(B) Role of digestive juices
(C) Role of relevant muscles in the hands and the fingers to pick up the
food and put it into the mouth.
(D) Immediate removal of hand if it comes in contact with a hot object
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W T T SgERw @l ufer ok SEd e Ru wu usHl % wox A ¢
‘T I SR ST EET dF AN YR @ gl widfatiat @ et ud avtad e
% fou we S & w0 ¥ B B T wi-wl w5 ewarg ot TE & uran fo b
I S Siq:amEl dF 3 AN W 3R we & Ty e o@r i T o & U
AT STALTRAT STl TATAh RAfT BN qHAT B & [ IGaX e S s 17
(a) T = b W fafgu o R R & Tpameemdl @ i ok wwfea
B L
(b) frelt @At Rufa & gfafkar @y fr=fafaa & 9§ wr: foeg fohar @ gures
ThaT & 7
(A) @ @l Sy
(B) diwen T @ e
(C) w1y ofk Iwferat r Ul &1 HieW St ¥ o T@e ¥ ften
(D) =19 TH IEG b Wb A MY A1 IABT id ek § I A% ¥ X &S

22 Read the passage given below and answer the questions that follow it : 1x2

Reproduction by single individuals takes place in many ways in lower organisms
like bacteria and protozoa and some algae. In plants, asexual reproduction is
by vegetative propagation. Animals like sponges and hydra reproduce both
asexually and sexually.

(1)  Which one of the following methods would you suggest to grow banana
plants genetically similar enough to the plants already available in a
farmer's field?

(A) Budding (B) Sexual reproduction
(C) Binary fission (D) Vegetative propagation
(ii)) Name two types of asexual reproduction in lower organisms.
9 faw U SgERer @ ufer ol sEE e faw wu weet % Ia fufaw -
“YRITT, TIESieT iR $B Jardl e franiia sial § yeree ued s g @l e
ST & SR a8 I STeh STerT—oTaT fafedi gyl diel ¥ il g i gaed
BT BT & | Wt o7 B133T 9 g § Wi &7 oTeifites I YehmX ol ST il & I
(i) P9% & ©d ¥ Ued 9 IUAH bl & W & WY G A THEAT o bl
% WY MW % [0 M9 Ffarad o & SF-ar [ e &1 gaima 1 ?
(A) TP (B) ifimh o
(C) fafawm™ (D) @iy yads
(i) frarita Sirel 9 erifites Jome & fbwel af Uil & =M fafaq)
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23 Match column I with the correct option of column 1II : 2

Column - I (Element) Column - II (Nature)
(a) Carbon (P) Metalloid
(b) Silicon (Q) Alloy
(R) Metal

(S) Non-metal
Hem — | &1 e @ - 11§ i T faees @ st -

wem — 1 () &rem — 11 (Torend)
(a) e (P)  suarg
(b) e (Q) fuxr =g
(R) g
(S) sy
24 Write TRUE (T) for correct statement and FALSE (F) for incorrect 2
statement:

(a) Al,O5 and CO, both show acidic as well as basic properties.
2Y3 2

(b) Graphite is soft, black and slippery solid. It is also a good conductor
of electricity and heat.

el %99 & faw g (T) ofX Tod %o+ & fou e (F) fafag :
(a) ALO; wd CO, ¥ 3T o7 Td & SF1 Wb & 0T Walid e 2|
(b) IwIZE BHA, HIAT, T 21 BT &1 T8 R T SO & W/ @b oial o |

25 Fill in the blanks : 2
(a) Atmospheric nitrogen is the biggest source of
(b) Tsunami occurs due to under the ocean.
faa @l @ gfd s
(a) TFHSHAT ATZZT 1 9 1 diq |
(b) I TEEET B A T ¥ B o B
26 Write True (T) for correct statement and False (F) for incorrect statements : 2

(a) Depletion of ozone layer is a natural disaster.

(b) Heterotrophs are called decomposers which feed on plants and animals.

el %99 & f¢ g (T) Td Td %o+ & fou e (F) fafag :

(a) SIS 9XA T &9 Ueh Wi STIaT & |

(b) TITHHIST I STIgeH UIMTAl Bl Hed & Sl STAAT Wie= qgi 3K STgall I
T B 2|
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27 Read the passage given below and answer the questions that follow it : 2
"In the game of tug-of-war, when the two teams pull the rope with equal force,
the rope remains stationary. When one of the teams applies greater force, it is
able to pull the other team."

(a) What name is given to the forces acting on the rope when any team does
not move?

(b) What type of force is applied when one of the team is able to pull the
rope?

A oy T IgERer @ diey 8fR I"e oM feU MY yeAi & I fafey :

‘TR % WA H TG AN SR Dbl T T X T IA A © T RIT G

AT & | 99 U A S T g @1 T 9 g9 § e & Sar & al 98 <

ol 2 @ diw a% ¥ www @ o 0

déd O S4B ]

(a) T 9 AW Il Sl Bl T A T Srar @ Safe B o O i § 9@ e
(b) 9 Us M TW Bl Wiad ¥ A &l Il & O T I T 9 g hd qd
HEATT & 7

by dud
o v %
- \kv &

28 Read the passage given below and answer the questions that follow it : 1x5
"Mechanical Energy is the capacity of doing work that a body possesses by
virtue of its position (potential energy) or by virtue of its motion (kinetic
energy). Mechanical energy can be either in the form of kinetic energy or
potential energy or the sum of two."

(a) How much work is done on a stone weighing 100 N that you carry
horizontally across a 10 m road?

(A) 1000 J (B) 10017
) 0 (D) 10 N m!
(b) How much potential energy does the stone have on the other side of the
road?
(A) Same as it had initially (B) 100 J
(C) 1000 J (D) Zero
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(c) How much work is done on a stone weighing 100 N when you lift it by

1 m?
(A) 1000 J (B) 1007
© 0 (D) 100 kg m

(d) What power is expended if you lift the stone (100 N) a distance of 1 m
in a time of 1 s?

(A) 10007 (B) 10017
(C) 1007 s (D) 100 W

(e) What is the potential energy of the stone in the lifted position relative to
its starting position?

(A) 1007 (B) 1000 J
(C) 0 (D) 1007 s!
e U U 3gERe @l ufew ofR gqe S Ru Tu yeei % Sux feiag
“Tifres Hell B B B AAAT BT & ol fhar fUs o e Rufa (Rafos wa) an
T (TfaeT Sutt) 6 BIOT Bl & | Fifre St a1 ot it Soll & &9 ® gl §, a1 Refas
Toll & w0 H A fBY I b A % w9 H|
(a) 9 T 100 N AR &% e & &faqs ad ¥ W@d g 10 7 98l 5% & 9K
TBT I & AT e fepae B B ¥ P
(A) 1000 J (B) 10017
(C) 0 (D) 10 N m!
(b) TSH & TEA oM T &l Rufost Furl fpar & 7
(A) ST S et ge ¥ ft (B) 1007

(C) 1000 J (D) =

(c) W« &g 100 N 9X & e bl | m SUT I1d &1 df 39 9T feham &rd feman
AT §
(A) 1000 J (B) 100 J
) 0 (D) 100 kg m

(d) afg emg 100 N & R &l 1 s § 1 m SUX I & o fha=t stferd @
Tl &7
(A) 1000 J (B) 1007
(C) 1007 s (D) 100 W

(e) Uifa Rafaqr & gam ® T & Fud Rafq # gael Rufast el feaer & 7
(A) 1007 (B) 1000 J
(C) 0 (D) 100 J s!
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SECTION - B
gugs — g

29 Name the acids present in the following substances : 2
(i) Vinegar
(i1)) Tamarind
frefareaa darel o faemme sraf & 99 fafag
(i) faze
(i) 3l
OR / sy

Write two differences between an electron and a proton.

TAFH ol Ui ¥ &1 o IarRu|

30 How does variation take place (a) in the force of attraction between nucleus 2

and valence electrons in a period from left to right? (b) the atomic radii of
elements in a period from left to right?

e g & fohel omad ® 913 9 Tife ok & dl & (a) A% iR FaIeTehar
el & 9/ ey §a fhe yer uRafda gt 3 7 (b) T e fee g
EEGRIE

31 Write two characteristics of an image formed by a plane mirror. 2
AN YU H 9 A it @l Big o fasivand farag)
OR / sy

Draw diagrams of a myopic eye and corrected eye.

e gfte i god 1 iR danfea =9 & oy foor—am@ sARu|

32 Give two examples of plant features / characteristics which are controlled 2

by a pair of factors of Gregor John Mendel.

arey T fasiwarstl / @Ew % &Y SaTe X gArRy S TR e Hed b HIhl b g &
it B 2
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33 State two ways to prevent the rusting of iron. 2

e ® S A ¥ g9 b & Jlh qaRy|
OR / 31y
Write one example of each of the following :

(a) a metal which is so soft that it can be cut with knife and a non-metal

which is the hardest substance.
(b) a metal and a non-metal which exist as liquid at room temperature.
frfafaq & 9 9% &1 Th SqE fafay ¢
(a) TH oTg ST A BMA & foh 3H Tk & Bl 1 Geball & qUT Ueh TG AT G
HOR TETY & |
(b) TH uIg T T AU S HAL b AT W FI G F U AW 2|

34 Write the names and molecular formulae of the saturated hydrocarbons having - 2
(a) one carbon atom
(b) five carbon atoms
S €W TESEEH! & AW Td SUES faRgu R (a) we @A 91 @, (b) Ui
HIET T & |

35 What was the model of the atom proposed by Rutherford after explaining 3
the results of o -ray scattering experiment in 1911?
TEIHE g TG ITHTY Hisd @1 o1 s 3= 1911 # o -fRxor gebrei= ga@nT o
TN % T8 GHET °q17
OR / 3t
A chemical compound becomes hard on mixing proper quantity of water.
Name the chemical compound and write its chemical formula. Write the

chemical equation to show what happens when water is added to this compound
in proper quantity? Write its two uses.

T AT A 3HH SUgH AT § S M 9 B & WA § | 36 et

s BT T X TEEs g3 ey | I8 390 & g Ematie gdie fafag e

39 A ¥ SUge A1 § oA A R BT § 7 39% &l SUdnT Sasy |
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36

37

38

39

40
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A, B, C, D, E and F belong to same period of the periodic table and have
atomic radii 0.64A, 1.52A, 0.66A, 1.06A, 0.70A and 0.88 A respectively.
Assume none of them is a noble gas.

(a) Arrange the elements in the order of increasing atomic number.

(b) Name two elements one metal and one non-metal.

(c) Which element is likely to form strong acidic oxide?

A, B, C, D, Euwd F arad &Rl & Tk 2 e & dcd & ST gehl (5oar hasT:
0.64A, 1.52A, 0.66A, 1.06A, 0.70A T 0.88A ¥ 7z a1 wadl ¥ o6 o &
iz T T & T

(a) Tq@f B Iod T IAY HHAB b HA § HARIT DI

(b) = q@i % AW Fay N t G e g atarg =

(c) 3TTH § ®F-91 I 99dd: Yad g Siedss Wi wam?

A hammer of mass 400 g, moving at 40 m s~!, strikes a nail. The nail stops
the hammer in a very short time of 0.01 s. What is the force of the nail on the
hammer?
400 g FEM BT Th §4eT 40 m s~! & T § TH B WX A1 qRar g1 b 0.01 s
% ST Bl H TS D favmmeren @1 Il §1 B &1 gde X o sa @
ST 7

OR / 3@t
What is the magnitude of the gravitational force between the earth and a 1 kg
object on its surface? (Mass of the earth is 6 x 1024 kg and radius of the earth
is 6.4 x 10% m.)
gl 3R 396 g W W 1 kg g@EE & 99 fhaT Teaeyn @ @ § 7
(e &1 g@mE = 6 x 1024 kg, geat &F Brsar = 6.4 x 106 m)

With the help of a diagram show the process of budding in Hydra.
TH W B TEEAT § EET § qPpad 29130l

OR / 3t
Name three plants which may arise from stem.

U 9 Qe & 9™ Sasu S 941 ST Gehd ¢

Name three types of neurons. Write their function.

9 dBR BY dBrenr ittt & I fafaw) 396 ye™ sdEu)

Name two types of food chains. Write two significances of food chain and
food web.

3 YR & WE-SEdrel & W fakag | @ e ot GE-sd & & " Iaiy |

3



41 Write three serious consequences of rise in global temperature in the last 3
hundred years.

T oaut 7 Afvae ™ W ghe & AW TR afeom & e A fafag

42 (a) Reema claims to have obtained an image twice the size of the 1+2+2=5

object with a concave lens. Is she correct? Give a reason for your answer.

(b) A lens forms an erect, magnified and virtual image of an object.
(i) Name the lens.
(i) Draw a ray diagram to show the formation of image.

(c) What do you mean by dispersion of light? Show it with the help of a neat
labelled ray diagram.

(a) M1 @1 % I ¢ b IO radw W % &1 O ¥ 1 A SR @l gt
T fRAT &1 T 98 Wl B Wehll & ¢ SO JAX b GHAA H Teb Q|

(b) TH o el fam & den, smaftiq R el wfafas s=Tar #)
(i) w9 &1 9 SABEUI
(i) wfafer &1 991 T fhToT—am@ T 91|

(c) WemieT &% GRETu § T ey & 7 Ueh WS AHifeha I @ GErEar ¥ 39§ 918U |

OR / 3@t

(a) What does the direction of thumb indicate in the right-hand thumb 2+3=5§
rule? In what way this rule is different from Fleming's left-hand rule?

(b) Draw a labelled circuit diagram of a DC generator.

(a) e T % oiS % Praw ¥ o[ 9 ReT F R w7 f6 ot ¥ 7w
a9 Wil & S &1y % em o e R Y

(b) DC &= @1 AmHifeed afiaer i@ 1T |

43 How are electrons distributed amongst the shells around a central nucleus? 5
Explain.

B AHE & ufka: e @i o selee fpd yer faaia & § 7 smen sl

(a)

(b)
(a)

(b)

OR / 3@t
What is Bleaching powder? Give its chemical formula. How is it 1+1+2+1
manufactured?
Give two uses of washing soda.
fatsten ol @1 BT & ¢ 3He TewEte g3 faRaw | gaewr i fed yer foman
ST & 7
e TIST % Hig & SN qarRy |
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This Question Paper consists of 43 questions and 16 printed pages.
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set /37— | B
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(wdem = fom 7 fo=in)

Signature of Invigilators 1.

(Friverni & &wner)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper code No. 68/0S/2, Set — |B | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1
2

TUETET YIS b UEd Y U HUAT S aed e |

FUAT USA-UF B A1 o o UT-9F & FA IS qAT YA B I & WA & oy g
U3 % G99 HUT VU &1 39 91 b Ad W B W b YT s €9 A ¥

TGS weet ® el O faaedt (A), (B), (C) Tam (D) § € i3 T A% go-T & a° &
T Sa-gRaes ¥ o el wox ffag|

IS Ul b WI-TT G YAl b IA¥ MUiRG @y & Hia¥ & 3 & | IR ueAl
& fau o o gwy w1 fen S

SA-giae ¥ wEaH-fag S99 stuan tide Wt & sifafea w2l ot srwaie faas ax
TUETT B ST SETAT SR

Tea H el ol Wbk & Ea® sgen gfaen o Rufq § s argae & "= e
A IT—YRA®BT T Y979 &l &S 4. 68/0S/2, 7e - |B| o€

(@)

(@)

G970 had &E/3EsT H &1 Ay off, afy onw o @ S & 5 fohd uwe W o
3R T Hhd §

picpull, AL, TR, U, B, Hepa i Tl

FuaT SA-gRasr ¥ feu T afe ¥ foed 6 omw e W § s fow @ 2
gfy ey & ud ofish & arfafieaa frel oma wior & I foaa § F wed & wwem
H B Al Jfedi | Tafadl ol e ded siadh! B

[ NOTE / firdwr :

(1) Answers of all questions are to be given in the Answer-Book given to

(2)

you.
et 9l o TR TR o Tl SR YRaen H & foae |

15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH YI-U51 i UG+ o fou 15 foe o1 wm o 7@ ® | 99991 o1 ferior Saet
T 02.15 ot foham STEm 1 02.15 &1 ¥ 02.30 &1 G BT hdel Y94-F bl T
3R 39 mafy & SRE I SR-YRAHT R HE W Tl foaa@ii|
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q.No. 1to 17 - Multiple Choice type Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each of the questions 18-28.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) 9® W & 9w ofe e o ¥
(iv) @ & § i@ ¥
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
Ut 18 § 28 % fg fiw g fds & @R 37 weAl & X fag|
(v) @ | H e ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A
g — &

1  Diamond is used - 1
(A) as a dry lubricant for moving machine parts
(B) for cutting of glass and drilling of rocks
(C) for making pencil leads
(D) for making electrodes in dry cells and in electric arcs.

B T ST foham & ®

(A) Tl @si & gt & dig &eh & &4 o
(B) &g &I ®red o firamet # gu@ 90 & fag
(C) e @1 fgedr a9 & fow

(D) g6 Gl qon faega ombe # fagey s H & foag

2  The image formed by a concave mirror is between centre of curvature and 1
focus, observed to be real, inverted and diminished than the object. Where
should be the position of the object?

(A) Beyond the centre of curvature

(B) At the centre of curvature

(C) Between the principal focus and the centre of curvature

(D) Between the pole of the mirror and its principal focus

fopdll sra@ TUUT G kAR Ud WiHd & dd iSRS a1 § 9K g8 it
e, I qAT AHR H o 9 Bl §| fo @l dwifaa Rafaq w2 7

(A) dIharhs & W

(B) daohaihs WX

(C) &7 B SR Thahs & ad

(D) =dw & ga qu1 &I ®Hd & d9

3 You are given two resistors of 2Q and 6 Q2. Combining these two resistors 1
what other resistances can you obtain?

(A) 8Q and 6Q (B) 8Q and 1.5Q

(C) 2Q and 8Q (D) 6Q and 2Q

AMUB 2Q TH 6Q & A WaUesd (T T 139 I & @A | 9 o= fohe—
fpg A & wia0y W BT gad © 7

(A) 8Q TwH 6Q B) 8Q W 1.50Q

(C) 2Q Twd 80 (D) 6Q Td 20

4  What is the mass of an object whose weight is 78.4 N? (Given g = 9.8 ms2) 1
fora ftis &1 WX 78.4 =g ¥ SHH g9 fham 27 (Ram & g = 9.8 ms2)
(A) 80N (B) 0.8 kg
(C) 8.0 kg (D) 0.8 N
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5 pOH of a solution is 9.5. The solution is : 1

(A) Acidic (B) Basic
(C) Neutral (D) Partially acidic partially basic
fopdt faerae @1 pOH 9.5 ¥ g% faeas © -
(A) el (B) ardm
(C) @M (D) gisra: orig SigTa: &A™
6 A mass of 1ug can also be written as : 1
lug s & &0 fa o9 w0 & fog @ &, a8 % -
(A) 107 g B) 10°g
(©) 1079 g (D) 1012 g
7 Work done by a force will be zero if on applying the force on a body 1
(A) the force displaces the body at an angle of 60° with the direction of
force.

(B) the body remains at rest.

(C) the body displaces in the direction of force.

(D) the body displaces in the direction opposite to the direction of the force
applied.

fordl 9@ &0 fopan T &1 9 BN AfS T8 S« fhdT s OX @ Sy &R 9 fis -

(A) 9@ @t fasm & "M 60° 9 fawfud &l

(B) fa= ¥ 91 @I

(C) a« @ fesm # fearenfua =1

(D) s« @&l faudia fesm & faeentia &1

8  Which of the following is true about force? 1
(A) Force is always in the form of a pull
(B) Force cannot move a stationary body
(C) Force cannot deform a body
(D) Force can change the direction of motion of a body
I & gy 7 FrEfdfed § § SF-—A1 HIT 9 § 7
(A) s gH9T Rgarg & &9 § & @ §
(B) =@ Rex axg &f Tfq & F&F @1 depar
(C) v fper fie @ foefua & &¢ &
(D) 9@ forel awg &1 WIfq &1 faem 9Id debel @

68/0S/2—212 B | S (WImmnmn [ Contd...



9 Litmus is an indicator to find out whether a given solution is acidic, basic or 1

neutral. In basic solutions, it turns to colour.
(A) blue (B) yellow
(C) purple (D) red
e U qas @A ¢ f5T8% &0 98 9 a1 511 dehar & 6 e T faaae snia
g, @ & oger IS 5| Al fawad | U1 @1 B S
(A) B) Y
(C) (D) <
10 Which one of the following is a correct electronic configuration of 1
magnesium?
fortfofad & &= ANy @ a8 sqeeite faam &2
(A) 2,81 B) 2,83
) 2,8,8 (D) 2,8,2
11 The symbol to represent the unit of physical quantity 'Luminous intensity' 1

1s

A N N G e )

(A) A (B) K
(C) mol (D) cd
12 The abiotic component of an ecosystem is : 1
(A) Carnivores (B) Primary producers
(C) Precipitation (D) Herbivores
IS &1 STl SEad ©
(A) wigHe (B) wrafyes IaEsd
(C) adur (D) smewHET
13 The function of uterus in human female is : 1

(A) Growth and development of the embryo

(B) To provide opening for ovum to pass

(C) To provide a common duct for passage of urine and sperms
(D) To produce ova

ol ® Twier &1 yed §

(A) ¥ &t gfg oo fawm

(B) s &l oA & [T &R Y& &L

(C) T X ThIpatt &% oA & g IWafTss il Ua™ oA
(D) gfs 3@ &L
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14 Two neurons are connected to each other through : 1

(A) Their axons (B) Synapses
(C) Their dendrites (D) Node of Ranvier
3 it FRE TR TR ek ¥
(A) U9 THEl & ATEAH 9 (B) oo Tt & wremd 9
(C) o1 gES & Heaq g (D) WfER-—vd & Areaw 9
15 Select the most devastating natural disaster from the following : 1
(A) Depletion of fossil fuels (B) Forest fire
(C) Depletion of ozone layer (D) Loss of ecosystem
Pretferfiad & ¥ Geifs fmeE W FefmEr gRm
(A) Shangw se ot eforar (B) z@md
(C) o 9Xq ! &oran (D) uiics &1 &
16 Metals - 1
(A) are generally hard. (B) exist in solid, liquid and gaseous states.
(C) are least malleable. (D) do not show any metallic lustre.
g -
(A) AR WX HBI B & | (B) 3™, &9 X €™ raedn H g W &
(C) 999 &9 Fqaed & & | (D) &3 aifes T v&iia T8 & |
17  Which of the following is a symptoms of Kwashiorkor? 1

(A) Gain of muscles.

(B) Body develops loose folds of skin.

(C) Ribs become prominent

(D) Retardation of physical and mental growth

frefafed & § HH-—1 FREREST AT B AT 8 ?
(A) Ustg 9r # gfg

(B) @1 &I Sldl 98 Ml

(C) vafeal &1 IHT ST

(D) 9mifte ik amfe fasm &1 o< & W
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18 Match column I with the correct option of column II : 2

Column - I (Element) Column - II (Nature)
(a) Carbon (P) Metalloid
(b) Silicon (Q) Alloy
(R) Metal

(S) Non-metal
HieH — | &1 e & - 11§ i T faeer @ st -

Fiew — I (a=) e — I (Torem)
(a) e (P)  guarg
(b) faferra (Q) fug urg
(R) w1g
(S) oreg
19 Read the passage given below and answer the questions that follow it : 1x2

Reproduction by single individuals takes place in many ways in lower organisms
like bacteria and protozoa and some algae. In plants, asexual reproduction is
by vegetative propagation. Animals like sponges and hydra reproduce both
asexually and sexually.

(i)  Which one of the following methods would you suggest to grow banana
plants genetically similar enough to the plants already available in a
farmer's field?

(A) Budding (B) Sexual reproduction

(C) Binary fission (D) Vegetative propagation
(i) Name two types of asexual reproduction in lower organisms.
a0 feU T IIERO H GfeU R ITEE A AU MY WAl % SA faRdy ¢
“JFITET, wiestieT oY B demdl e et Siat § Yo U St &R & R
Sl & iR 98 ff o st -arer faftrn gr) we # Sl yea i yaew
BT BT ¢ | T 37X B3] S99 § Wi 37X STeiliTeh T YebTX 1 oI il & I

(i) 9% & ©d H Ued ¥ YA bl & el & WY TG WG FAEAT g bl
% WY MW % [0 M9 Ffarad o & SF-ar [ e &1 gaima 1 ?

(A) HPpad (B) <ifies weor e
(C) fafaumm (D) @it yads
(ii) fr=rerila st & orifie womm & fFeel 3 yart & =M faifa
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20 Read the passage given below and answer the questions that follow it : 1x2
"The nervous system and the endocrine system work together as a team to
control and coordinate all our activities. Sometimes we may not even be aware
of the role that the nervous and endocrine systems play in our health and well-
being and receive response to an urgent or dangerous situation."

(a) Name the two systems which control and coordinate all our body activities.
(b) Which one of the following is usually executed in response to a dangerous
situation?
(A) Feel of hunger
(B) Role of digestive juices
(C) Role of relevant muscles in the hands and the fingers to pick up the
food and put it into the mouth.
(D) Immediate removal of hand if it comes in contact with a hot object

T T T SgERw @l ufer ok SEd e Ru wu weHt % wox A ¢
‘AT o SR Sfd|mEl dF AN Y @ {4 wIfafafaal @ Feta ud aqtead &
% Tt IW & 'Y B B & | BB & sreard o el & uran fop b
I SR siq:amEl dF 3 AN wWRe iR we & iy e e@r A T o & U
AT STALTRAT ST GAAD RAfT BN THAT B & [ IGaX e S § 17
(a) o & A & AW fafee S T TR & fpamardl @ Ffa ok "t
HA & |
(b) fordll watTe Rafa @ wfafk weu ffataa & @ wr: foeg fear &1 gures
Bl &7
(A) @ @l ergHfa
(B) drwe @l bl i
(C) &g o ITferal ol Ul & HieH Sorht e § @ o i
(D) =1 TH I%G b GYh A T q1 IEHT d HeHh 9 I I ¥ Q&S

21  Write True (T) for correct statement and False (F) for incorrect statements : 2
(a) Depletion of ozone layer is a natural disaster.
(b) Heterotrophs are called decomposers which feed on plants and animals.
el Y9 & foiw g (T) Td Tod %9+ & fou e (F) fafag :
(a) SIS IXA &1 &0 T Wi STIET & |
(b) fawHHIST 37 (U= W &l Hed & S STUAT 9o Ul X Sgell I o
U B ¢ |
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22 Fill in the blanks : 2
(a) Atmospheric nitrogen is the biggest source of

(b) Tsunami occurs due to under the ocean.
o Tt @1 gid ik -
(a) TIHSAT ATZZT H G ST & & |
(b) FIH FEEFRI & 0 36 % HILU AT B
23 Write TRUE (T) for correct statement and FALSE (F) for incorrect 2
statement:

(a) Al,Oz and CO, both show acidic as well as basic properties.
(b) Graphite is soft, black and slippery solid. It is also a good conductor
of electricity and heat.

el ®eA % g g (T) o Tad %o & fog s@w (F) fafeg -
(a) ALO; wd CO, ¥ 3FT o7 Td & SF1 Wb & 0T FElid e 2|
(b) IwIZE BN, BT, T 21 BT &1 I8 R T SO &1 W/ @b oial o |

24 Read the passage given below and answer the questions that follow it : 2
"In the game of tug-of-war, when the two teams pull the rope with equal force,
the rope remains stationary. When one of the teams applies greater force, it is
able to pull the other team."

(a) What name is given to the forces acting on the rope when any team does
not move?

(b) What type of force is applied when one of the team is able to pull the
rope?

A iy T IgERer @ diey 8fR I8e oM faU MY yeAi & IOy fafey :

‘TR % WA H TG AEI ST B IH T I A A A ¢ T RIS

AT & | 99 U A S T g @1 T 9 g9 § e & S & dl 98 <

ol S &1 G o § e @ o B0

S | ANRS
(a) &N U T 91 gl B R A o S @ a9 wig o O i § 1€ gk ?
(b) 9 Ush I T &I Wiad § Thd &l il & o T I T A g b qd
HEATT & 7
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25  Write True (T) for correct statement and False (F) for incorrect statement :  1+1=2
(a) Ionic compounds do not conduct electricity in their molten state and
in aqueous solutions.
(b) Some covalent compounds are solid also. They have low melting point,
low boiling point.
T ®oe & T g (T) ofiX TTad &a & fow e (F) fofaw
(a) Trad B9 WX Ten oUe W fadad # omatTe iRt faed @l ardd el B |
(b) B TEHAS AN 3 AT Bl § | I Tl Td FaIDI & AIF 7 & & |

26 Complete the following sentences by using the options given in bracket: 1+1=2
(Decreasing, protons, increasing, nucleus, atom, electrons)

(a) The shells in atoms are occupied in the order of their energies.
(b) The particles namely and neutrons in the nucleas are called
nucleons.

wiceh H AU Y fasmedl &1 SUENT Bk ATl bl G DBINT
(B, e, 9o, AHe, TRy, geai)

(a) TTATIGST ¥ BIgT I FHerrall & % H 9 W E
(b) ity & feemm woit e Al Bl gRraT | Fed | |
27 Match column I statement with the correct option from column II. 2
B — | &% HIF B e & wiad — 11 & qel fabeq & iy
Column - I / &fea® — 1 Column - II / ®few — 11
(a) 10N (P) 108 g cm? s2
(by 10W (Q) 108 g cm? s3

(R) 10° g cm s2
(S) 10 g cm s2

28 Read the passage given below and answer the questions that follow it : 1x§
"Mechanical Energy is the capacity of doing work that a body possesses by
virtue of its position (potential energy) or by virtue of its motion (kinetic
energy). Mechanical energy can be either in the form of kinetic energy or
potential energy or the sum of two."

(a) How much work is done on a stone weighing 100 N that you carry
horizontally across a 10 m road?

(A) 1000 ) (B) 10017
) 0 (D) 10 N m!
(b) How much potential energy does the stone have on the other side of the
road?
(A) Same as it had initially (B) 100 J
(C) 1000 J (D) Zero
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(c) How much work is done on a stone weighing 100 N when you lift it by

1 m?
(A) 1000 J (B) 1007
© 0 (D) 100 kg m

(d) What power is expended if you lift the stone (100 N) a distance of 1 m
in a time of 1 s?

(A) 10007 (B) 10017
(C) 1007 s (D) 100 W

(e) What is the potential energy of the stone in the lifted position relative to
its starting position?

(A) 1007 (B) 1000 J
(C) 0 (D) 1007 s!
e U U 3gERe @l ufew ofR gqe S Ru Tu yeei % Sux feiag
“Tifres Hell B B B AAAT BT & ol fhar fUs o e Rufa (Rafos wa) an
T (TfaeT Sutt) 6 BIOT Bl & | Fifre St a1 ot it Soll & &9 ® gl §, a1 Refas
Toll & w0 H A fBY I b A % w9 H|
(a) 9 T 100 N AR &% e & &faqs ad ¥ W@d g 10 7 98l 5% & 9K
TBT I & AT e fepae B B ¥ P
(A) 1000 J (B) 10017
(C) 0 (D) 10 N m!
(b) TSH & TEA oM T &l Rufost Furl fpar & 7
(A) ST S et ge ¥ ft (B) 1007

(C) 1000 J (D) =

(c) W« &g 100 N 9X & e bl | m SUT I1d &1 df 39 9T feham &rd feman
AT §
(A) 1000 J (B) 100 J
) 0 (D) 100 kg m

(d) afg emg 100 N & R &l 1 s § 1 m SUX I & o fha=t stferd @
Tl &7
(A) 1000 J (B) 1007
(C) 1007 s (D) 100 W

(e) Uifa Rafaqr & gam ® T & Fud Rafq # gael Rufast el feaer & 7
(A) 1007 (B) 1000 J
(C) 0 (D) 100 J s!
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30

31
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33
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SECTION - B
g — g

Write two characteristics of an image formed by a plane mirror.
AR U H 99 A it @ s & fasivad fafag)

OR / 3ty
Draw diagrams of a myopic eye and corrected eye.

e 3fte 3w gad 9 ok delfya 49 % fou fpror—sm@ a9mEu|

(a) How does metallic character change from bottom to top in a group?

(b) How does the number of valence electrons change from left to right, in
a period?

(a) fpdr ot o enfege @aor T ¥ HUX B oMY b Y 9o ® 7

(b) Tepdll ammed ® ST & Sfel 3R AISThaT SaiAl Dl T fhe T TE & 7

State two ways to prevent the rusting of iron.
e @l S W 9 g9 & & dld SdiRu|
OR / 3@t

Write one example of each of the following :

(a) a metal which is so soft that it can be cut with knife and a non-metal
which is the hardest substance.

(b) a metal and a non-metal which exist as liquid at room temperature.

frrefafad o & yde @1 To Iae faiay

(a) TH oTg ST A BHA & {oh 3H Ak & Bl ST Gehall & AT Ueh TG N T
HIX T&Td F1

(b) TH UIg T T YT S HAL b AT W T G F U S 2|

Who proposed law of inheritance? On which plants did he experiment for
seven years?

STTEfTeRdr &1 Fraw foree wrattaa fomam o ? S fope ael oX ara av q@ T feg 7

Name the acids present in the following substances :
(1) Vinegar
(i1) Tamarind
frfafiea et # faemm eral & 9 fafey
(i) T
(i) 3l
OR / 3ty
Write two differences between an electron and a proton.

TAFH ol U ¥ &1 o IarRu|



34  Write the names and molecular formulae of the saturated hydrocarbons having -
(a) six carbon atom
(b) four carbon atoms
ST WY TESIBIEH! % AW U SigS fafey R -
(a) ® e G &
(b) TR HIEA YA |

35 With the help of a diagram show the process of budding in Hydra.
Th AW B TEEAT ¥ FE § qPpad 913l
OR / 3@t
Name three plants which may arise from stem.

U9 A9 el & 9™ Sasy S 941 ST 9 § |

36 A,B,C, D, E and F belong to same period of the periodic table and have
atomic radii 0.64 A, 1.52A, 0.66A, 1.06A, 0.70A and 0.88 A respectively.
Assume none of them is a noble gas.

(a) Arrange the elements in the order of decreasing atomic number.

(b) Name two elements which are non-metals.

(c) Which two elements are expected to be most reactive?

A,B,C. D, ETd F aad aXoil & Th & oad & Heifed e ¥ ofi gt feand
F 0.64A. 1.52A. 0.66A. 1.06A, 0.70 A g 0.88A ¥ e 7 wad £ fh
9 Bz W T w7

(a) Tl Bl TE] HEAT % TS HH § FARI B

(b) U¥ I T@l &b M IART S TG &

(c) D9 T dd E9aq: Faitasm afeaeiia ¥

37 A hammer of mass 500 g, moving at 60 m s, strikes a nail. The nail stops
the hammer in a very short time of 0.01 s. What is the force of the nail on the
hammer?

500 g T BT TH BT, 60 m s %k I H UH W ¥ HAAr & DA
0.01 s &% oTAed H@ o UIS B @R § @1 <Al 81 Hid gdie X a1 oo
SRIMIT HIT & 7

OR / 3@t
What is the magnitude of the gravitational force between the earth and a 2 kg
object on its surface? (Mass of the earth is 6 x 1024 kg and radius of the earth
is 6.4 x 10% m)
geaT 3 3H% Y58 WX W@ 2 kg FFAM & 919 b [Eadye @ @ § 7
(gedt @1 g = 6 x 1024 kg qam gea @ B = 6.4 x 106 m)
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39

40

41

42

What was the model of the atom proposed by Rutherford after explaining 3

the results of o -ray scattering experiment in 19117

TEHS BT YA I Hisd &1 a1 st 384 1911 § o -fpTor yasivs waimT o
TN & §18 GHEAT A17

OR / 3t
A chemical compound becomes hard on mixing proper quantity of water.
Name the chemical compound and write its chemical formula. Write the

chemical equation to show what happens when water is added to this compound
in proper quantity? Write its two uses.

T TERE A 3HH Suged A ¥ 9 A WX Bk &l ST § | 39 EEh
AifTes &1 T IR TEmae g3 fafaq | a8 g9 & fag tamte adiien ey 6
39 iR o Iuga A ¥ S@ AW ¥ 9T g & 7 39 & SudnT oy |

Write three functions of spinal cord. 3
TEToS] & O Y fafag)
What is meant by adaptations in organisms? Why do living things adapt 3

themselves to their environment? Give any two reasons.
Sl ® e ¥ el e € 7 Siifed ol oro @t Sta wafert e o argge Hl a0
WA &7 BIE & R SARY|

Write three environment friendly practices. 3

el I wafarwr fsr sgaer @1 faeo fifa)

How are electrons distributed amongst the shells around a central nucleus? 5

Explain.

FEE qaw & aika: fafes wiel § o feg ger faafa e § ? @ s
OR / 3@t

(a) What is Bleaching powder? Give its chemical formula. How is it 1+1+2+1

manufactured?

(b) Give two uses of washing soda.

(a) foise ol & =ian @ 7 39 TaEe g3 faiay | 3ger i fhg g fpar
ST & 7

(b) GrEgT HET & B3 & YT IART|
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43 (a)

(b)

(a)
(b)

(c)
(a)

(b)
(a)

(b)

Reema claims to have obtained an image twice the size of the 1+2+2=5
object with a concave lens. Is she correct? Give a reason for your answer.
A lens forms an erect, magnified and virtual image of an object.
(i) Name the lens.
(ii)) Draw a ray diagram to show the formation of image.
What do you mean by dispersion of light? Show it with the help of a neat
labelled ray diagram.
M1 1 I8 T § b IO ofaad o % &1 [ § &1 A S BT Jiareas
U foRam B 1 R g8 WE OBl Wbl & ¢ U A b wHYA H e gl
Uh o foREl o @ A, Smarda 8fiR el wiiafes S §1
(i) 9 &1 9 FaRC|
(ii) wfafe= &1 591 Us fRRor-em@ ar S9iEu)
RIS % TIRETUT ¥ R A § ? U WS AHifehd O Bl gerd § 3¢ ISl

OR / 3@t
What does the direction of thumb indicate in the right-hand thumb 2+3=5§
rule? In what way this rule is different from Fleming's left-hand rule?
Draw a labelled circuit diagram of a DC generator.
e &1 & SiS & o o SRS &l faem o 2R &l & 7 fooet o7t o I
fram wifiT % SfQ &1 & e | = 87
DC W9 @1 AWifeha 9qY 3@ ST |
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This Question Paper consists of 43 questions and 16 printed pages.
T0 AT § 43 999 q1 16 G I ¥
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W FE TE=AT
Set / AT — C

SCIENCE AND TECHNOLOGY
(et T AEfe)
212)

Day and Date of Examination

(wdem = fom 7 fo=in)

Signature of Invigilators 1.

(Friverni & &wner)

General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

In case of any doubt or confusion in the question paper, the English Version will prevail.

Write your Question Paper code No. 68/0S/2, Set — |(C | on the Answer-Book.

(@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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A ST

1
2

TUETET YIS b UEd Y U HUAT S aed e |

FUAT USA-UF B A1 o o UT-9F & FA IS qAT YA B I & WA & oy g
U3 % G99 HUT VU &1 39 91 b Ad W B W b YT s €9 A ¥

TGS weet ® el O faaedt (A), (B), (C) Tam (D) § € i3 T A% go-T & a° &
T Sa-gRaes ¥ o el wox ffag|

IS Ul b WI-TT G YAl b IA¥ MUiRG @y & Hia¥ & 3 & | IR ueAl
& fau o o gwy w1 fen S

SA-giae ¥ wEaH-fag S99 stuan tide Wt & sifafea w2l ot srwaie faas ax
TUETT B ST SETAT SR

Tea H el ol Wbk & Ea® sgen gfaen o Rufq § s argae & "= e
A IT—YRA®BT T Y979 &l &S 7. 68/0S/2, - |C| fog|

(@)

(@)

G970 had &E/3EsT H &1 Ay off, afy onw o @ S & 5 fohd uwe W o
3R T Hhd §

picpull, AL, TR, U, B, Hepa i Tl

FuaT SA-gRasr ¥ feu T afe ¥ foed 6 omw e W § s fow @ 2
gfy ey & ud ofish & arfafieaa frel oma wior & I foaa § F wed & wwem
H B Al Jfedi | Tafadl ol e ded siadh! B

[ NOTE / firdwr :

(1) Answers of all questions are to be given in the Answer-Book given to

(2)

you.
et 9l o TR TR o Tl SR YRaen H & foae |

15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to

02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.

TH YI-U51 i UG+ o fou 15 foe o1 wm o 7@ ® | 99991 o1 ferior Saet
T 02.15 ot foham STEm 1 02.15 &1 ¥ 02.30 &1 G BT hdel Y94-F bl T
3R 39 mafy & SRE I SR-YRAHT R HE W Tl foaa@ii|
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q.No. 1to 17 - Multiple Choice type Questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each of the questions 18-28.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) 9® W & 9w ofe e o ¥
(iv) @ & § i@ ¥
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
Ut 18 § 28 % fg fiw g fds & @R 37 weAl & X fag|
(v) @ | H e ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A

gog — &
1  The abiotic component of an ecosystem is : 1
(A) Carnivores (B) Primary producers
(C) Precipitation (D) Herbivores
IS &l STifad Eaad §
(A) wraHe (B) wiufie SaEs
(C) b (D) sreRwel
2 A mass of 1ug can also be written as : 1
lug w=m & &0 g org w0 & fg 9o &, 98 ¥ -
(A) 107 ¢ (B) 10°¢
(€) 107 ¢ (D) 10712 ¢
3  pOH of a solution is 9.5. The solution is : 1
(A) Acidic (B) Basic
(C) Neutral (D) Partially acidic partially basic
fopd faera @1 pOH 9.5 ¥ T faes © -
(A) o™ (B) at™
(C) ST (D) iy STl ST &g
4  Diamond is used - 1

(A) as a dry lubricant for moving machine parts
(B) for cutting of glass and drilling of rocks
(C) for making pencil leads

(D) for making electrodes in dry cells and in electric arcs.

TR 1 I9ANT b S B

(A) il wsi & qaif & dig ek & &4 o
(B) @ia @& ®red o firamet & gug M % fau
(C) ufaw &1 faaer a9 & foQ

(D) g @t qen foga smhw 7 feggan o & fog
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5  The image formed by a concave mirror is between centre of curvature and 1

focus, observed to be real, inverted and diminished than the object. Where
should be the position of the object?

(A) Beyond the centre of curvature

(B) At the centre of curvature

(C) Between the principal focus and the centre of curvature
(D) Between the pole of the mirror and its principal focus

fpeY oTaqe TV ERT Tehdihs Ud Wihd & SI9 UAEE §9dT & 8 g8 uidfes
IIEfeen, 3eeT 9T AR § [ ¥ BT 31 o o duifaa Rufa w=m &7

(A) dIharhs & W

(B) dashdies U

(C) 9= ®ihd 3 ThaTh= & ST
(D) U % ga IA &I HiHd &b dd

6  You are given two resistors of 2Q and 6 Q. Combining these two resistors 1
what other resistances can you obtain?
(A) 8Q and 6Q (B) 8Q and 1.5Q
(C) 2Q and 8Q (D) 6Q and 2Q
MUl 2Q T 6Q &% & Yiaged €T T4 €1 37 Al & FAeH ¥ A9 3 fohy-
fore A &% YiY 9T Y "hd © 7
(A) 8Q Twd 6Q B) 8Q uwd 1.5Q
(C) 2Q Twd 8Q (D) 6Q wd 2Q

7  What is the mass of an object whose weight is 78.4 N? (Given g = 9.8 ms2) 1
g fiie &1 AR 78.4 =2 T U@ geA fhaw ¥ (R & g = 9.8 ms—2)

(A) 80N (B) 0.8 kg
(C) 8.0 kg (D) 0.8N

8  Metals - 1
(A) are generally hard. (B) exist in solid, liquid and gaseous states.
(C) are least malleable. (D) do not show any metallic lustre.
a‘@ —
(A) AR 9T HAR B 2| (B) 3M, 5a iR 9 srawn # uW 9 ¥
(C) HsY &° =g aid &1 (D) @15 afas gia w&ikia T8 s
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9  Select the most devastating natural disaster from the following : 1

(A) Depletion of fossil fuels (B) Forest fire
(C) Depletion of ozone layer (D) Loss of ecosystem
frefafea & & waffue famaedt weiae Terfauer gig -
(A) Sirared e @ efiorn (B) @™
(C) NS U &l &foren (D) W@ &1 &a
10 Two neurons are connected to each other through : 1
(A) Their axons (B) Synapses
(C) Their dendrites (D) Node of Ranvier
31 e HET T YT sl & —
(A) o9 el b ATEE W (B) o fawat & A 9
(C) 31ue S9gEe & AIeH | (D) Wfqax-ud & wreaw o
11 The function of uterus in human female is : 1

(A) Growth and development of the embryo

(B) To provide opening for ovum to pass

(C) To provide a common duct for passage of urine and sperms
(D) To produce ova

ot o THie & Y ¥ ¢

(A) 9o & ghg oo e

(B) s &l oA & [T &R Y& &Ll

(C) I 3R o3 & oI & (Y IHAMSS Al & BT
(D) gfs 3@ &

12 The symbol to represent the unit of physical quantity 'Luminous intensity' 1
is .

M YT QT drerdr’ & 9 &l Hefug & 9T Tl © -

(A) A B) K
(C) mol (D) cd
13 Which one of the following is a correct electronic configuration of 1
magnesium?
frafafed & & T & w8 et foam &7
(A) 2,81 B) 2,83
C) 2,88 (D) 2,8,2
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14 Litmus is an indicator to find out whether a given solution is acidic, basic or 1
neutral. In basic solutions, it turns to colour.
(A) blue (B) yellow
(C) purple (D) red
forend Ue Yo W & 59k g1 g8 S0 (631 S "end & o o man faerem el
g, @0T § YAl ISEH ¢ iy fawas § ¥ EUICT RS IS

(A) el (B) 9
(C) s (D)

15 Which of the following is true about force? 1
(A) Force is always in the form of a pull
(B) Force cannot move a stationary body
(C) Force cannot deform a body
(D) Force can change the direction of motion of a body
4 % deY ¥ fEfatad 9§ 9 dH-91 HoF 9 § 7
(A) o gH9T Rdarg & &9 § & @ ®
(B) @ Rax axg &I 7fd & &0 @1 el
(C) =« fper fie &l fawiig T8 T Fopar
(D) @ fordl awg & a1 f&em 95 |har §

16 Work done by a force will be zero if on applying the force on a body 1

(A) the force displaces the body at an angle of 60° with the direction of
force.

(B) the body remains at rest.
(C) the body displaces in the direction of force.

(D) the body displaces in the direction opposite to the direction of the force
applied.

fordlt I BT fopan T &R S BN AfE U 9@ fper fie uX W 8k 9% fie -
(A) =« I faem & dme 60° 9 ferenfya =il

(B) fom o s91 @

(C) s &l fasm # faeentua &1

(D) @ &l faudiq feem & fawenfya =)
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17  Which of the following is a symptoms of Kwashiorkor? 1
(A) Gain of muscles.
(B) Body develops loose folds of skin.
(C) Ribs become prominent
(D) Retardation of physical and mental growth

frfafad & @ d9—a1 FfEREGT T 61 qAqT F ?
(A) Usta 9r ¥ gfg

(B) @l &l gl U W

(C) vafeTdl &1 IHT ST

(D) 9miife ok "Mk faer &1 9= & S

18 Read the passage given below and answer the questions that follow it : 1x2
"The nervous system and the endocrine system work together as a team to
control and coordinate all our activities. Sometimes we may not even be aware
of the role that the nervous and endocrine systems play in our health and well-
being and receive response to an urgent or dangerous situation."

(a) Name the two systems which control and coordinate all our body activities.
(b) Which one of the following is usually executed in response to a dangerous
situation?
(A) Feel of hunger
(B) Role of digestive juices
(C) Role of relevant muscles in the hands and the fingers to pick up the
food and put it into the mouth.

(D) Immediate removal of hand if it comes in contact with a hot object
W T T SgERw @l ufer ok SEd e Ru wu usHl % wox A ¢
‘AT dF SR Sfd-amEl dF gAY @ @4 wifafaraat & et ud a9t &
% T wsh I & ® A B B &1 BT 7 sream ot T & U fop e
TF SR ST EEl dF 7 TAR WReA 3R Hed & [ e 37T Bl & S & Th
AThITaTdh el Tl AlATh RAfd 1 G B & g Tgax o sar g1
(a) o & A & W fafeg S A iR & fpameandl @ it ek utea

B L
(b) fpe Tae Rufa & wfafkan @ey fr=fatag & 9 g foeg fhar @1 gures

AT &7

(A) @ @l ergHfd

(B) dSe T@l bl SR

(C) &g &R Iuferal ol Ryt & Hie Sothe He o @A # i

(D) &g T I%] % TUh H AW Al GBI G A<h § 39 % ¥ gL &S
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19 Read the passage given below and answer the questions that follow it : 1x2

Reproduction by single individuals takes place in many ways in lower organisms
like bacteria and protozoa and some algae. In plants, asexual reproduction is
by vegetative propagation. Animals like sponges and hydra reproduce both
asexually and sexually.

(i)  Which one of the following methods would you suggest to grow banana
plants genetically similar enough to the plants already available in a
farmer's field?

(A) Budding (B) Sexual reproduction

(C) Binary fission (D) Vegetative propagation
(ii)) Name two types of asexual reproduction in lower organisms.
a0 feU T ITEXO H GfeU R IEY A QU MY Ul % SAX faRdy ¢

“JFITeET, wiesreT oY B damEl e et Siat § Yo U St )T & far
ST & oiX a8 o omeh ST T-orn faftat g wiel § Sifel i ue e e yads
BT BT & | T 37X B3] S99 W Wi 3K STeiliTeh ST UebTX 1 oI il & I

(i) 9% & ©d # Ued ¥ YA bl & el & WY TG SAHG F9Ear g bl
% 1Y 3T % fau oy frefafed & @ dF-—dr fafy stoam @1 gae 39 °

(A) FPper (B) s v
(C) fafawrs (D) e e
(ii) fr=rerila st & ol wome & fFeel 3 wart & =W faifau

20 Match column I with the correct option of column II : 2
Column - I (Element) Column - II (Nature)
(a) Carbon (P) Metalloid
(b) Silicon (Q) Alloy
(R) Metal

(S) Non-metal
Hiad — [ &1 e siad — 11 7 e 0 faed & S :

Hew — 1 (a) i — I (Torent)
(a) @A (P) wueng
(b) Rafenia (Q) fagr uig
(R) &g
(S) &g
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21 Match column I statement with the correct option from column II. 2

B — [ & HYF B HAE B diad — 1 & 987 faeey 9 B -

Column - I / &®fe® — 1 Column - II / &fe® — 11
(a 10N (P) 108 g cm? s2
(b) 10W (Q) 108 g cm? 53

(R) 10° g cm s2
(S) 10 g cm s2

22 Complete the following sentences by using the options given in bracket: 1+1=2
(Decreasing, protons, increasing, nucleus, atom, electrons)

(a) The shells in atoms are occupied in the order of their energies.
(b) The particles namely and neutrons in the nucleas are called
nucleons.

wresd ¥ g T fawdl w1 STET HE Al B QU Sy

(g, Wi, ged, e, TIEI, SeEei)

(a) UTATS § BT SAD Heltel & % H 9 W ¥

(b) ity ¥ faeam ®on TG gl Bl gfrenE o wed ¥

23 Write True (T) for correct statement and False (F) for incorrect statement :  1+1=2

(a) Ionic compounds do not conduct electricity in their molten state and
in aqueous solutions.

(b) Some covalent compounds are solid also. They have low melting point,
low boiling point.

el wa & fou g (1) ok TTad %9+ & fog e (F) fafeg -
(a) Trae 8 UX STUaT 319 o faaae § et AR faea &1 9 T8l did |
(b) FB TEHA ARE 3| Y Bl ¥ | I7% TAID! Td FqAIDBI b WF T B ¥ |

24  Write True (T) for correct statement and False (F) for incorrect statements : 2
(a) Depletion of ozone layer is a natural disaster.
(b) Heterotrophs are called decomposers which feed on plants and animals.
el ®YA % fog g (T) Td Tad %o & fag s\ (F) fafag -
(a) ST IR &1 & U WIhiadh STIET ¢ |
(b) fawHHIST 37 STUEEed WY & Hed & S STUAT 9o Ul X Sgell I o
U B |
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25 Read the passage given below and answer the questions that follow it :
"In the game of tug-of-war, when the two teams pull the rope with equal force,
the rope remains stationary. When one of the teams applies greater force, it is
able to pull the other team."

(a) What name is given to the forces acting on the rope when any team does
not move?

(b) What type of force is applied when one of the team is able to pull the
rope?

A iy g IgERr @ 4iey iR I8e oM faU MY yeAi & S fafey :

‘el % WA W TG A AR DI W T U IAEX I A & A @ Rew

AT & | 99 U A S T G @1 T 9 g9 § e & S & al 98 <

@ﬁéﬁnﬁ@aaﬁﬁwﬁaﬁ%r’

(a)m Wﬁwwﬁaﬁaﬁﬁaﬁwwﬁmw%mﬁsﬁ%%ﬁhnﬁrﬁﬁﬁ?
(b) 9 Ueh I T &I Wiaw § Thd &l il & df T I T a1 g b I
HeATd o 7

26 Write TRUE (T) for correct statement and FALSE (F) for incorrect
statement:
(a) Al,Oz and CO, both show acidic as well as basic properties.
(b) Graphite is soft, black and slippery solid. It is also a good conductor
of electricity and heat.
T ®od & e g (T) ofiX TTad ®ad & fou o (F) fafeg -
(a) ALO; wd CO, ¥ 3T o Td & S Wb % T Walid e 2|
(b) IwIZE BHA, BT, T 21 BT §1| g R T SO &1 /N @b oial o |

27 Fill in the blanks :
(a) Atmospheric nitrogen is the biggest source of

(b) Tsunami occurs due to under the ocean.
(a) dTgHSHIT AZZIeA % 999 §1 & B
(b) FAH TEEI & A IS % BT ST B |
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28 Read the passage given below and answer the questions that follow it : 1x§
"Mechanical Energy is the capacity of doing work that a body possesses by
virtue of its position (potential energy) or by virtue of its motion (kinetic
energy). Mechanical energy can be either in the form of kinetic energy or
potential energy or the sum of two."

(a) How much work is done on a stone weighing 100 N that you carry
horizontally across a 10 m road?

(A) 100017 (B) 10017
(C) 0 (D) 10 Nm!
(b) How much potential energy does the stone have on the other side of the
road?
(A) Same as it had initially (B) 100 J
(C) 1000 7J (D) Zero
(c) How much work is done on a stone weighing 100 N when you lift it by
1 m?
(A) 1000 J (B) 1007
<) o (D) 100 kg m

(d) What power is expended if you lift the stone (100 N) a distance of 1 m
in a time of 1 s?

(A) 1000 ) (B) 10017
(C) 10017 s (D) 100 W
(e) What is the potential energy of the stone in the lifted position relative to
its starting position?
(A) 10017 (B) 1000 J
<) 0 (D) 100 J s
T iy T IgERer @ diey 8fR ek oM iy MU weAl % IaX fafag ¢
“gitss FI B B Bl GHA Bl & o1 fpEr fUs § @t Rafa (Rafast &=i) @
el (TSt FHeT) o BT Il & | AT Fostl AT Y TSt SHoll & &9 A sl 5, a1 Reafast
Foll &% &9 H A1 fRT I & A & ' H|
(a) 9 M9 100 N 9 & JeaX i Qifst ad 3 W@d 5T 10 HieX el d5% & U
AHY A & ar o fohaer B e g7
(A) 1000 ) (B) 10017
(C) 0 (D) 10 N m!
(b) WSH & AU X ek &l Rafost =t fopat & 7
(A) sar @ et ge A &t (B) 100 )
(C) 1000 J D) g3
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(c) W9 3m7 100 N 91X & WX ! | m HUT I & df 30 U fobaem &l feman

ST & 7
(A) 1000 J (B) 10017
) 0 (D) 100 kg m
(d) 3fg ema 100 NF gex &l 1 s ¥ 1 m SUX Soid & a fhanr ofed @
B B 7
(A) 100017 (B) 10017
(C) 10017 s (D) 100 W
(e) uRfye Rufq & gam & TR @ Fud Rufq & sual Rufos ot fear & 7
(A) 10017 (B) 100017
<) 0 (D) 100 J s
SECTION - B
g — g
29 State two ways to prevent the rusting of iron. 2
@E Bl ST WH ¥ 9 b I q0% Saqs|
OR / 3@t

Write one example of each of the following :

(a) a metal which is so soft that it can be cut with knife and a non-metal
which is the hardest substance.

(b) a metal and a non-metal which exist as liquid at room temperature.

frfafaa ® 9 Ud% &1 T I fafay -

(a) UH oIg S A BHAA & 6 T4 AG | BT I Thal & qAT T STeg Wl g
HOX TaTY T

(b) T €1g TUN Ueb TG S FHA % AT U o ST ¥ U Sl € |

30 (a) How does metallic character in a period change from left to right? 2
(b) How does the size of atoms change from top to bottom in a group?
(a) omad | & fhdl ofad § 9T § TMEAl SfX dcdl &l i dasR &y
EEGRIEN
(b) frell ot & TR & I o7 &R T &b YA BT Y fbd Y ISl o 7
31 Name the acids present in the following substances : 2
(1) Vinegar
(i) Tamarind
frfafaa werf & foemm ol & @ fafag -
(i) T
(i) sl
OR / 3ty
Write two differences between an electron and a proton.

TAF SR WM # &) oY SaRu|
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32 What are dominant and recessive factors of Mendel's theory? Write one
statement for each.

Hed & fgid ¥ Sieaigd ToTdT ofiT STYHTdl ieh o1 & ¢ Y & 8y § T U™
fafaui

33 Write two characteristics of an image formed by a plane mirror.
TAAA YU ¥ 99 e gl @l @ig &1 fagivand fafag)
OR / 3@t

Draw diagrams of a myopic eye and corrected eye.

e gfte 3w gaa A o welfud =9 & g feeor—sm@ s9Ru|

34  Write the names and molecular formulae of the saturated hydrocarbons having-
(a) seven carbon atom
(b) three carbon atoms

T WG EEBE & A O T forfaw fa -
(a) @I BET A &
(b) WA HEA gAY B

35 With the help of a diagram show the process of budding in Hydra.
T A DI GEEAdl | EESl H JPped 91yl
OR / 3@t
Name three plants which may arise from stem.

U9 9 Qe & 9™ Sasu S 941 ST G §

36 A,B,C,D,E and F belong to same perlod of the periodic table and have
atomic radii 0. 64A 1. 52A 0. 66A 1 06A 0. 7OA and 0. 88A respectively.
Assume none of them is a noble gas.

(a) Arrange the elements in the order of increasing atomic number.
(b) Name two elements which are metals.

(c) Which elements is expected to be least reactive?

A, B, C, D, Etd F orad gl & T & offad & 0l & X gt oy Broan
hHST: 064A 152A O66A 106A O70AQH088A%’I?T&'HHTGITW%
for 37 ¥ ®iz A1 Ffea @ T2 7

(a) 3T qAl B Iod §T XA HHAB & HA § HARAT DI |

(b) @ d@f % W fafag S o1g ¥ |

(c) T8 d@ % A Ak B &I GHET & 7

68/08/2—212_C|] 14 (WImmnmn [ Contd...



37 A hammer of mass 600 g, moving at 30 m s, strikes a nail. The nail stops 3
the hammer in a very short time of 0.01 s. What is the force of the nail on the
hammer?

600 g A &1 TH g4t 30 m s & I ¥ uH Bid ¥ <haar 1 B 0.01s &
HAW B H FAS bl fmmEaRar § o &1 &) did $US WX o g9 @l © 7

OR / 31¥an

What is the magnitude of the gravitational force between the earth and a 4 kg
object on its surface? (Mass of the earth is 6 x 10%* kg and radius of the earth

is 6.4 x 10° m)

YAl X IHh T8 W W 4 kg F@AH & U & 99 @ I [odmye S 61 qreTT
fopaer & 7 (et @1 oA = 6 x 1024 kg & T gt &t frsn = 6.4 x 109m ?)

38 What was the model of the atom proposed by Rutherford after explaining 3

the results of o -ray scattering experiment in 19117
TEIHS BT Y& I Jisd F1 a1 51 3% 1911 9 o -fRTer Yehivis w=amT @
TRl % 18 gHET o1 7

OR / sy

A chemical compound becomes hard on mixing proper quantity of water.
Name the chemical compound and write its chemical formula. Write the
chemical equation to show what happens when water is added to this compound
in proper quantity? Write its two uses.

T (A A 369 SUgH AT § S M 9 B & Wi § | 36 EEE
s BT T4 X TEES g ey | T8 390iW & g TEmaiie gqieon faiay 6
39 AT W SUgEd W1 § od EE @ R’ BT § 7 9% &l IUErT SaiRy |

39 How many types of nerves are included in Somatic nervous system? 3
Name them. Write the number of pairs of each type of nerve present in our
somatic nervous system. Where are these nerves emerging from?

e et o § fohaw W 1 dfreRd onfyre iy € 7 Sk i fafgw) sdEy fe
T ¥ YD b fhai—Thad Wi e & ¥ 3 dferd @l @ Feedr 37

40 What is meant by population dispersal? Write two differences between 3
emigration and immigration.

SHEET a1 iy a1 § 7 v Ud S H & oY Saisu|
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41 Write three problems caused by the non-biodegradable wastes that we generate. 3
AN g SId aroid Feientola sraferedl & gr BN el dF gaenetl & fawg o
fefa)

42 (a)

(b)

(c)
(a)
(b)

(c)
(a)

(b)
(a)

(b)

Reema claims to have obtained an image twice the size of the 1+2+2=5
object with a concave lens. Is she correct? Give a reason for your answer.
A lens forms an erect, magnified and virtual image of an object.

(i) Name the lens.

(i) Draw a ray diagram to show the formation of image.

What do you mean by dispersion of light? Show it with the help of a neat
labelled ray diagram.

T &1 9% 371 & b I8 oTadd g & g1 99 & &1 A SR @ giate

U foRar B 1 R a8 WEI OB Wl & ¢ SO A % @HYA H T gl

T o fedl o @ dren, omaftia ofR eIl wiafee S B

(i) ™9 &1 9 SABRUI

(i) wfafem &1 991 T fheo—am@ g 91|

Yeh19T oh TILEuT § &Rl A & 7 Ueh TS SHifhd (a5 %l G8™dl ¥ 39 g9MsU|
OR / 3@t

What does the direction of thumb indicate in the right-hand thumb 2+3=5§

rule? In what way this rule is different from Fleming's left-hand rule?

Draw a labelled circuit diagram of a DC generator.

M &1 & SS & o o oR[S &l faem o SR &l & 7 fooet o7l o I

a9 Wil & 9 &1y % Few o e % 0

DC W= &l Hifhd qiad am@ I1E7 |

43 How are electrons distributed amongst the shells around a central nucleus? 5
Explain.
Fs TG & gika: faft= wial § soae e yer faafa e €7 aren s

(a)

(b)
(a)

(b)

OR / 3t
What is Bleaching powder? Give its chemical formula. How is it 1+1+2+1
manufactured?
Give two uses of washing soda.
fordates 9ot o BT & 7 g6 varaie g fafaw | saar Fei fee e fean
S 7
e TIST % Hig &1 SN garRy |
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